
Public Policy 603, Assignment 6
Table 1
Growth Regression Results

Dependent variable:  Growth
	Regressor
	(1)
	(2)
	(3)

	Trade Share


	 (         )
	 (         )
	 (         )

	Years Schooling

	 (         )
	 (         )
	 (         )

	Capital Stock

	__
	(         )
	(         )

	Coups

	__
	__
	(         )

	Lack of Civil Society

	__
	__
	(         )

	Intercept


	 (         )
	 (         )
	 (         )

	F-statistics testing the hypothesis that the population coefficients on the indicated regressors are all zero:

	Trade Share, Years Schooling 
	(         )
	(         )
	(         )

	Trade Share, Years Schooling,
  Capital Stock
	__
	(         )
	(         )

	Coups, Lack of Civil Society

	__
	__
	(         )

	Regression summary statistics
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Notes:  Dependent variable is average annual percentage growth of real Gross Domestic Product (GDP) from 1960 to 1995.  Heteroskedasticity-robust standard errors are given in parentheses under estimated coefficients, and p-values are given in parentheses under F- statistics.  The F-statistics are heteroskedasticity-robust.  The regression results exclude data on Malta.
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